
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

ijh{k.k iqfLrdk

lkekU; vè;;u

(tqykbZ eSx”khu tk¡p ijh{kk)
fnukad& 08.07.2018

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksaA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fgUnh ,oa vaxzs”kh esa Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	fMftVy IysViQkeZ ^fiQ;ks Xykscyfyadj* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blls Hkkjr dh cgq&dsafnzr fu;kZr j.kuhfr dk 
foLrkj gksxkA

	 2.	 bldk eq[; mís'; y?kq ,oa e>ksys m|eksa ds 
O;olk; esa fodkl dks vkSj vfèkd ljy] vfèkd 
ykHkizn ,oa lq[kn cukuk gSA

	 3.	 ;g lqfoèkk fu%'kqYd ugha gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 1 vkSj 3
	 2.	^lw{e] y?kq ,oa eè;e m|e* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;s de iwath ykxr ij jks”kxkj ds O;kid volj 
iznku djus esa egÙoiw.kZ Hkwfedk fuHkkrs gSa ysfdu 
xzkeh.k ,oa fiNM+s {ks=kksa ds vkS|ksxhdj.k esa lgk;rk 
ugha djrs gSaA

	 2.	 y?kq m|ksx ea=kky; vkSj Ñf"k ,oa xzkeh.k m|ksx 
ea=kky; dk foy; dj lw{e] y?kq ,oa eè;e 
m|e ea=kky; dk xBu fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 3.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 frygu vkSj rsy ike ij jk"Vªh; fe'ku lfgr 

jk"Vªh; [kk| lqj{kk fe'ku dk mís'; [kk| rsyksa 

dh miyCèkrk dks lqn`<+ cukus ds lkFk gh [kk| 

rsyksa ds vk;kr dks c<+kuk Hkh gSA

	 2.	 jk"Vªh; bZ&xous±l dk mís'; fofHkUu dk;ZØeksa ds 

varxZr fdlku vkSj fdlku dsafnzr lsokvksa dks 

ykuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2 
	 4.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vEcszyk ;kstuk ^gfjr Økafr&Ñ"kksUufr ;kstuk* esa 

12 ;kstuk,¡@fe'ku 'kkfey gSaA

	 2.	 jk"Vªh; iks"k.k fe'ku dks Hkh vEczsyk ;kstuk esa 

'kkfey fd;k x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 1.	 In the context of the digital platform 'FIEO Global 
Linker', consider the following statements:

	 1. 	This will expand India's multi-centric export 
strategy.

	  2. 	This aims to make the business growth 
of SMEs simpler, more profitable and 
enjoyable.

	  3.		 This facility is not free of cost.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 3 only 	 (b)	 1 and 2 only
	 (c)	 2 and 3 only 	 (d)	 1 and 3 only

	 2.	 In the context of 'Micro, Small and Medium 
Enterprises', consider the following statements:

	 1.	 They play an important role in providing broad 
employment opportunities at lower capital 
costs but do not help in the industrialization 
of rural and backward areas.

	 2. 	The Ministry of Micro, Small and Medium 
Enterprises was formed by merging the 
Ministry of Small Industries and the Ministry 
of Agriculture and Rural Industries.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	  Both 1 and 2 	 (d)	 Neither 1 nor 2

	 3.	 Consider the following statements:
	 1.	 The National Food Security Mission, 

including National Mission on Oilseeds and 
Oil Palm, aims to strengthen the availability 
of edible oils as well as to increase the import 
of edible oils.

	 2.	 National E-Governance aims to bring farmers 
and farmer-centric services under various 
programs.

		  Which of the statement(s) given above is / are not 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 4.	 Consider the following statements:
	 1.	  12 schemes/missions included in Umbrella 

Scheme 'Green Revolution -Krishonnati 
Yojana'.

	 2.	 This umbrella scheme also includes National 
Nutrition Mission .

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b)	 2 only
	 (c) 	Both 1 and 2 	 (d)	 Neither 1 nor 2



3lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009
nwjHkk"k% 011-47532596, 8750187501  (+91) 8130392354, 8130392356
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 5.	vVy isa'ku ;kstuk dks ns'k Hkj ds 'kgjh ,oa xzkeh.k 
{ks=kksa esa lsok iznkrkvksa }kjk fØ;kfUor fd;k tk jgk gSA 
buesa dkSu&ls cSad@foHkkx 'kkfey gSa\

	 1.	 lkoZtfud {ks=k ds cSad		
	 2.	 futh {ks=k ds cSad 
	 3.	 {ks=kh; xzkeh.k cSad 
	 4.	 lgdkjh cSad 
	 5.	 Mkd foHkkx

	 	dwV%

	 (a)	 dsoy 2, 3 vkSj 4	 (b)	 dsoy 1, 3, 4 vkSj 5
	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2, 3, 4 vkSj 5
	 6.	vVy isa'ku ;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl ;kstuk dh 'kq#vkr 1 tqykbZ] 2015 dks 

dh xbZA
	 2.	 bl ;kstuk esa 'kkfey gksus ds fy;s U;wure vk;q 

20 o"kZ vkSj vfèkdre vk;q 40 o"kZ gSA
	 3-	 bl ;kstuk dks isa'ku fufèk fofu;ked vkSj fodkl 

izkfèkdj.k }kjk vfHk'kkflr fd;k tk jgk gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 7.	jk"Vªh; dkS'ky fodkl fuxe ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g foÙk ea=kky; }kjk LFkkfir ,d xSj&ykHkdkjh 

daiuh gSA 
	 2.	 bl fuxe dk orZeku bfDoVh csl `10 djksM+  

gS ftlesa ls dkS'ky fodkl vkSj m|ferk ea=kky; 
ds ekè;e ls Hkkjr ljdkj dk fgLlk 49% gS] 
tcfd futh {ks=k esa 'ks"k jkf'k 51% gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 8.	tutkrh; lgdkjh foi.ku fodkl la?k (VªkbisQM) ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 blus tutkrh; ekeyksa ds ea=kky; ds rgr rS;kj 

eky ds LVkWd (bUosaVªh) ds fy;s fjVsy bUosaVªh 
lkWÝVos;j dk iz;ksx 'kq: dj fn;k gSA

	 2.	 Ñf"k mRiknksa ds ewY;ksa ds mrkj&p<+ko ls gksus 
okys uqdlku dh HkjikbZ ds fy;s Ñf"k ,oa fdlku 
dY;k.k ea=kky; bls vuqnku nsrk gSA

	 3-	 bldk eq[;ky; gSnjkckn esa gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 2

	 5.	 The Atal Pension Scheme is being implemented 
by the service providers in urban and rural areas 
across the country. Which of the following banks 
/ divisions are included in it?

	 1. 	Public sector banks 
	 2. 	Private sector banks
	 3. 	Regional Rural banks
	 4. 	Cooperative banks
	 5. 	Post office
		  Code:
	 (a)	 2 ,3 and 4 only 	 (b)	 1, 3, 4 and 5 only 
	 (c) 	1 and 2 only 	 (d) 	 1, 2, 3, 4 and 5

	 6.	 In the context of the Atal Pension Scheme, consider 
the following statements:

	 1. 	The scheme was launched on July 1, 2015.
	 2. 	The minimum age for joining this scheme is 

20 years and the maximum age is 40 years.
	 3. 	This scheme is being administered by the 

Pension Fund Regulatory and Development 
Authority.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	3 only 	 (b) 	 2 and 3 only
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3

	 7.	 In the context of National Skill Development 
Corporation, consider the following statements:

	 1. 	It is a non-profit company established by the 
Ministry of Finance.

	 2. 	The current equity base of this corporation is 
10 crores rupees, out of which Government 
of India holds 49% through Ministry of Skill 
Development and Entrepreneurship , while 
the remaining 51% is held by private sector.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 8.	 Consider the following statements regarding the 
Tribal Cooperative Marketing Development 
Federation of India (TRIFED):

	 1.	 It has started using Retail Inventory Software 
for stocks (inventory) of finished goods under 
the Ministry of Tribal Affairs.

	 2.	 The Ministry of Agriculture and Farmers’ 
Welfare grants compensations for the 
losses due to ups and downs of the prices of 
agricultural products.

	 3. 	Its headquarters is located in Hyderabad.
		  Which of the statement(s) given above is/are 

correct?
	 (a) 	2 only 	 (b)	 1 and 3 only
	 (c) 	2 and 3 only 	 (d) 	 1 and 2 only
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	 9.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 th,lVh ifj"kn dh 27oha cSBd esa fMftVy 
ysu&nsu ds fy;s th,lVh nj esa ifjorZu djus 
vkSj phuh ij midj yxkus ds lanHkZ esa 
fopkj&foe'kZ fd;k x;kA

	 2.	 th,lVh ifj"kn dk izR;sd fu.kZ; mifLFkr ,oa 
ernku ds 75% Hkkfjr cgqer gksus ds ckn gh 
fy;k tk,xkA

	 3-	 th,lVh ifj"kn esa dsanz vkSj jkT;ksa ls dqy feykdj 
35 lnL; gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 10.	lkefjd dsanzh; lkoZtfud {ks=k ds m|eksa esa 'kkfey gS@

gSa%
	 1.	 ijek.kq mQtkZ ,oa ijek.kq mQtkZ ds fy;s iz;qDr 

lkexzh

	 2.	 gfFk;kj vkSj xksyk&ck:n] j{kk midj.kksa] gokbZ 
tgk”k ,oa ;q¼iksrksa ls lac¼ m|e

	 3.	 jsy ifjogu

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 11.	izèkkuea=kh Ñf"k flapkbZ ;kstuk ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ^lw{e flapkbZ dks"k* izHkko'kkyh rjhds ls bl 
;kstuk ds ^ij MªkWi eksj ØkWi* ?kVd ds iz;klksa 
esa o`f¼ djsxkA

	 2.	 bl ;kstuk esa pkj ea=kky;ksa ds dk;ks± dks lesfdr 
fd;k x;k gSA

	 3-	 ekulwu ij [ksrh dh fuHkZjrk dks de djus ds 
mís'; ls ,oa gj [ksr dks ikuh igq¡pkus ds fy;s 
2 tqykbZ] 2015 dks bl ;kstuk dks ea”kwjh nh xbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 12.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; twV fuxe twV mRiknd jkT;ksa eas U;wure 
leFkZu ewY; ij ewY; leFkZu lapkyu ds fy;s 
dsanzh; uksMy ,tsalh ds :i esa dk;Z djrk gSA

	 2.	 Ñf"k ykxr ,oa ewY; vk;ksx Hkkjr ljdkj ds 
Ñf"k ,oa fdlku dY;k.k ea=kky; dk ,d layXu 
dk;kZy; gSA

	 9. 	Consider the following statements:
	 1. 	In the 27th meeting of GST Council, 

discussions were made in respect of making 
changes in GST rates for digital transactions 
and imposing cess on sugar.

	 2. 	Every decision of the GST Council will be 
taken only after 75% of weighted majority 
of the present and the voting.

	 3.		 GST Council has 35 members in total from 
the Centre and the States.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 2 and 3 only
	 (c) 	3 only 	 (d) 	 1, 2 and 3

	 10.	 Strategic Central Public sector Undertakings 
include(s):

	 1. 	Nuclear energy and materials used for 
nuclear energy

	 2. 	Enterprises associated with arms and 
ammunition, defence equipments, airplanes 
and warships

	 3. 	Rail transport

		  Code:
	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3

	 11.	 Consider the following statements regarding Prime 
Minister Krishi Sinchayee Yojana:

	 1. 	'Micro Irrigation Fund' will effectively 
increase the efforts of 'Per Drop More Crop' 
component of this scheme.

	 2.	 The functions of the four ministries have 
been consolidated in this scheme.

	 3.	 To reduce the dependence of farming on 
monsoon and to bring water to every farm, 
this scheme was approved on July 2, 2015.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only 	 (b)	 1 and 3 only
	 (c) 	2 only 	 (d) 	 1, 2 and 3

	 12.	 Consider the following statements:
	 1. 	The Jute Corporation of India serves as 

the central nodal agency for price support 
operation at minimum support price in jute 
producing states.

	 2. 	Commission for Agricultural Costs and 
Prices is an attached office of the Ministry 
of Agriculture and Farmer Welfare of 
Government of India.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 13.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 vkthfodk ,oa dkS'ky fodkl esys dk vk;kstu 

Hkqous'oj esa dkS'ky fodkl ,oa m|e'khyrk 

ea=kky; }kjk fd;k x;kA

	 2.	 izèkkuea=kh dkS'ky fodkl ;kstuk dk fØ;kUo;u 

^jk"Vªh; dkS'ky fodkl fuxe* ds izf'k{k.k 

lk>snkjksa }kjk fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 14.	phuh feykas dks leFkZ djus ds mís'; ls ljdkj }kjk 

mBk, x, dneksa ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 fdlkuksa ds fgr esa phuh vk;kr ij lhek&'kqYd 

dks 50 izfr'kr ls c<+kdj 100 izfr'kr dj fn;k 

x;kA

	 2.	 phuh fu;kZr ij ns; lhek&'kqYd dks 100 izfr'kr 

c<+k fn;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 15.	ckWEcs LVkWd ,Dlpsat ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g ,Dlpsat ,f'k;k dk lcls iqjkuk LVkWd 

,Dlpsat gSA

	 2.	 gky gh esa bl ,Dlpsat dks la;qDr jkT; vesfjdk 

ds flD;ksfjVht ,aM ,Dlpsat deh'ku ls 

^MsflXusVsM vkWiQ'kk sj flD;ksfjVht ekdsZV*     

(Mh-vks-,l-,e-) dk ekU;rk izek.k&i=k feyk 

gSA

	 3-	 ;g ,Dlpsat ̂ Mh-vks-,l-,e-* ekU;rk izkIr djus 

okyk Hkkjr dk nwljk fons'kh eqnzk ck”kkj cu 

x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	

	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	

	 (d)	 dsoy 3

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b)	 2 only
	 (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2

	 13.	 Consider the following statements:
	 1. 	Livelihood and Skill Development Fair 

was organised by the Ministry of Skill 
Development and Entrepreneurship in 
Bhubaneswar.

	 2. 	The implementation of the Pradhan Mantri 
Kaushal Vikas Yojana will be done by 
the training partners of 'National Skill 
Development Corporation'.

		  Which of the statement(s) given above is /are not 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 14. 	Consider the following statements regarding the 
steps taken by the government to empower sugar 
mills:

	 1. 	In favour of the farmers, customs duty on 
sugar imports has been increased from 50 
percent to 100 percent.

	 2. 	Customs duty payable on Sugar exports 
increased 100 percent.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 15. 	Consider the following statements in the context 
of the Bombay Stock Exchange: 

	 1. 	This exchange is the oldest stock exchange 
of Asia.

	 2. 	Recently, this exchange has received the 
recognition status of 'Designated Offshore 
Securities Market' (DOSM) from US 
Securities and Exchange Commission.

	 3. 	T	his exchange has become India's second 
foreign exchange market receiving 'DOSM' 
accreditation.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only 	
	 (b) 	1 and 2 only
	 (c) 	2 and 3 only	
	 (d) 	3 only
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	 16.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 ('ks;j ck”kkj)		 (lacafèkr ns'k)
	 1.	 Mkso tkasl	 &	 U;w;kdZ (;w,l,)
	 2.	 uSlMSd	 &	 ;w,l,
	 3-	 fuDdh	 &	 ukWosZ
	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 17.	varjkZ"Vªh; ekSfnzd vkSj foÙkh; lfefr ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldh cSBd o"kZ esa ,d ckj gksrh gSA
	 2.	 bl lfefr esa 24 lnL; gksrs gSa tks vkb,e,iQ 

ds 189 lnL;ksa ls fy;s tkrs gSaA
	 3-	 bl lfefr dh 37oha cSBd esa Hkkjrh; fj”koZ 

cSad ds xouZj us Hkkx fy;kA
	 4-	 blesa dksbZ Hkh fu.kZ; ernku ds }kjk ugha gksrk 

gS vfirq loZlEefr ls fy;k tkrk gSA
	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1, 3 vkSj 4
	 (c)	 dsoy 2, 3 vkSj 4	 (d)	 1, 2, 3 vkSj 4
	 18.	fo'o O;kikj laxBu ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 varjkZ"Vªh; eqnzk dks"k ,oa fo'o cSad lewg dh 

Hkk¡fr ;g la;qDr jk"Vª la?k ls lac¼ laLFkk ugha gSA
	 2.	 ;g ,d oSf'od Lok;Ùk laLFkk gS] tks blds 

lnL;ksa ds eè; vkilh vke lgefr ds vkèkkj 
ij dk;Z djrh gSA 

	 3.	 bldh LFkkiuk  tsusok esa 5 tuojh] 1996 dks gqbZA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 19.	cgq&iz{ks=kh; fodkl dk;ZØe ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 vc ;g dk;ZØe izèkkuea=kh tu fodkl dk;ZØe 

ds uke ls tkuk tk,xkA
	 2.	 ewyr% ;g dk;ZØe 2008&09 esa vYila[;dksa 

dks fofHkUu iz{ks=kksa esa lqfoèkk nsus ds fy;s cuk;k 
x;k FkkA

	 3-	 igys bl dk;ZØe ds varxZr vYila[;d {ks=kksa 
ds p;u ds fy;s vYila[;dksa dh tula[;k 
25% fuèkkZfjr Fkh ysfdu vc izèkkuea=kh tu 
fodkl dk;ZØe ds varxZr mls c<+kdj 50% 
dj fn;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 3	 (d)	 dsoy 1 vkSj 2

	 16.	 Consider the following pairs:
		  (Share Market)	      (Associated country)
	 1.	 Dow Jones	 :	 New York (U.S.A.)
	 2. 	Nasdaq	 :	 U.S.A.
	 3. 	Nikkei	 :	 Norway
		  Which of the pair(s) given above is /are correctly 

matched?
	 (a) 	1 and 2 only 	 (b) 	 3 only
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3
	 17. 	In the context of the International Monetary and 

Financial Committee, consider the following 
statements:

	 1. 	Its meeting occurs once in a year.
	 2. 	This committee consists of 24 members, who 

are selected from 189 members of the IMF.
	 3. 	The Governor of the Reserve Bank of India 

attended the 37th meeting of this committee.
	 4. 	No decision is made by voting, rather it is 

taken unanimously.
	  	Which of the statement(s) given above are correct?
	 (a) 	1 and 2 only 	 (b) 	 1, 3 and 4 only
	 (c) 	2, 3 and 4 only	 (d) 	 1, 2, 3 and 4
	 18.	 In the context of the World Trade Organization, 

consider the following statements:
	 1. 	Like the International Monetary Fund and the 

World Bank Group, it is not a United Nations 
affiliated body.

	 2. 	It is a global autonomous organization, which 
works on the basis of mutual consensus 
among its members.

	 3. 	It was founded on January 5, 1996 in Geneva.
		  Which of the statement(s) given above is/are 

correct?
	 (a) 	1 and 3 only 	 (b) 	 1 and 2 only
	 (c) 	3 only 	 (d) 	 1, 2 and 3
	 19.	 In context of the Multi-sectoral Development 

Programme, consider the following statements:
	  1. 	Now, this program will be known as Pradhan 

Mantri Jan Vikas Karyakram.
	 2. 	Originally, this program was launched in 

2008-09 to facilitate minorities in various 
fields.

	 3. 	Earlier under this program, the minority 
population was set to be 25% for the selection 
of minority areas, but now it has been 
increased to 50 under Pradhan Mantri Jan 
Vikas Karyakram.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	3 only 	 (d) 	 1 and 2 only
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	 20.	bZjku ijek.kq le>kSrk ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g le>kSrk ^tkWbaV dkWfEizgsaflo Iyku vkWiQ 
,D'ku* ds uke ls Hkh tkuk tkrk gSA

	 2.	 bl le>kSrs ij 14 tqykbZ] 2015 dks bZjku] ih 
5+1 ns'kksa rFkk ;wjksfi;u ;wfu;u ds chp fo;uk 
esa gLrk{kj fd;s x, FksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 21.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ih 5+1 ns'kksa esa vesfjdk] phu] Úk¡l] :l] 
teZuh ,oa Hkkjr 'kkfey gSaA

	 2.	 Hkkjr vkB lnL;h; 'ka?kkbZ lg;ksx laxBu dk 
lnL; gS ,oa orZuke esa bZjku dks bl laxBu esa 
i;Zos{kd dk ntkZ izkIr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 22.	bLykeh lg;ksx laxBu ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bldh LFkkiuk varjkZ"Vªh; 'kkafr vkSj ln~Hkko dks 
c<+kok nsus ,oa eqfLye txr ds fgrksa dh j{kk 
djus ds mís'; ls o"kZ 1969 eas dh xbZ FkhA

	 2.	 bldk eq[;ky; lmnh vjc ds tsn~nkg esa fLFkr 
gS ,oa orZeku esa 57 jk"Vª blds lnL; gSaA

	 3.	 ;g la;qDr jk"Vª ds ckn nwljk lcls cM+k 
varj&ljdkjh laxBu gS ftldh vkfèkdkfjd 
Hkk"kk,¡ dsoy vjch vkSj vaxzs”kh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 23.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dksyafc;k ukVks esa oSf'od Hkkxhnkj ds :i esa 
lnL;rk xzg.k djus okyk igyk ySfVu vesfjdh 
ns'k gSA

	 2.	 ukVks nf{k.kh vesfjdh vkSj ;wjksih; ns'kksa dk ,d 
varj ljdkjh lSU; xBcaèku gS tks lkewfgd lqj{kk 
ds fl¼kar ij dk;Z djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	 20. 	In the context of Iran's nuclear deal, consider the 
following statements:

	 1. 	This agreement is also known as 'Joint 
Comprehensive Plan of Action'.

	 2.	 On 14 July 2015, this agreement was signed 
between Iran, P5+1 countries and the 
European Union in Vienna.

		  Which of the statement(s) given above is / are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 21. 	Consider the following statements:
	 1. 	P5+1 countries include America, China, 

France, Russia, Germany and India.
	 2. 	India is a member of the eight-member SCO 

and Iran has the status of supervisor in this 
organization at present .

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 22. 	In the context of the Organisation of Islamic 
Cooperation, consider the following statements:

	 1.	 It was established in the year 1969 to 
promote international peace and harmony 
and to protect the interest of the Muslim 
community.

	 2. 	Its headquarters is located in Jeddah (Saudi 
Arabia) and at present 57 nations are its 
members.

	 3. 	It is the second largest intergovernmental 
organization after the United Nations, and 
its official languages are Arabic and English 
only.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 2 and 3 only
	 (c) 	3 only	 (d) 	 1, 2 and 3

	 23.	 Consider the following statements:
	 1. 	Colombia is the first Latin American country 

to subscribe NATO as a global partner.
	 2. 	NATO is an intergovernmental military 

alliance of Southern American and European 
countries that works on the principle of 
collective protection.

		  Which of the statement(s) given above is /are not 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2
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	 24.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g mÙkj&if'pe vÚhdk ds ek?kjsc {ks=k esa fLFkr 
ns'k gSA

	 2.	 blds nf{k.k&iwoZ esa lgkjk jsfxLrku ik;k tkrk gSA
	 3.	 bl ns'k dh jktuhfrd iz.kkyh lkafofèkd jkt'kkgh 

ij vkèkkfjr gSA
	 4-	 bl ns'k dk izeq[k èkeZ bLyke gSA
	 5-	 ;g vjc yhx] Hkweè; lkxj la?k vkSj vÚhdh 

la?k dk lnL; gSA
	 	mi;qZDr fo'ks"krk,¡ fuEufyf[kr esa ls fdl ns'k dh gS\

	 (a)	 iqrZxky	 (b)	 eksjDdks

	 (c)	 vYthfj;k	 (d)	 V~;wuhf'k;k
	 25.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 usiky] Hkkjr vkSj phu ds chp ,d ciQj LVsV 
ds :i esa dk;Z djrk gSA

	 2.	 ikjaifjd fpfdRlk iz.kkyh ds varxZr vk;qosZn] 
;ksx] uspqjksiSFkh] ;wukuh] fl¼ vkSj gksE;ksiSFkh 
fpfdRlk dks 'kkfey fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 26.	nksgjk djkèkku fuokj.k le>kSrk ds ykHk ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blls djnkrkvksa dks ,d gh vk; ij nksgjs djksa 
dk Hkqxrku ugha djuk iM+rk gSA

	 2.	 ;g VSDl ØsfMV o dqN ekeyksa esa djksa ls dqN 
NwV iznku djrk gSA

	 3.	 ;g djnkrkvksa }kjk vk; l`tu ds Ïksr ns'k 
vFkok muds ewy ns'k ;k nksuksa ns'kksa esa dj pksjh 
ds volj dks Hkh de djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3
	 27.	jk"Vªh; iou &lkSj gkbfczM uhfr ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 uohu vkSj uohdj.kh; ÅtkZ ea=kky; us ns'k esa 
v{k; ÅtkZ mRiknu dks c<+kok nsus ds mn~ns'; 
ls bl uhfr dks tkjh fd;k gSA 

	 2.	 ;g uhfr gkbfczM ifj;kstuk ls fctyh dh [kjhn 
ds fy;s VSfjiQ vkèkkfjr ikjn'khZ cksyh izfØ;k 
dh O;oLFkk djrh gSA

	 3.	 bl uhfr ds varxZr gkbfczM ifj;kstukvksa esa cSVjh 
LVksjst ds mi;ksx dh vuqefr ugha nh xbZ gSA

	 24. 	Consider the following statements:
	 1. 	It is a country located in Maghreb area of 

north-west Africa.
	 2. 	The Sahara Desert is found in its south-east.
	 3. 	The political system of this country is based 

on the statutory monarchy.
	 4. 	The main religion of this country is Islam.
	 5. 	It is a member of the Arab League, the 

Mediterranean Sea Association and the 
African Union.

		  Which of the following countries belongs to the 
above mentioned characteristics?

	 (a) 	Portugal 	 (b) 	 Morocco
	 (c) 	Algeria 	 (d) 	 Tunisia

	 25. 	Consider the following statements:
	 1. 	Nepal acts as a buffer state between India and 

China.
	 2. 	Ayurveda, yoga, Naturopathy, Greek, 

Siddha and Homeopathy are included in the 
traditional medical system.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 26. 	In context of the benefits of the Double Taxation 
Avoidance Agreement, consider the following 
statements:

	 1. 	By this, taxpayers do not require to pay 
double taxes on the same income.

	 2. 	It offers tax credits and in some cases 
provides some tax exemptions.

	 3. 	It also reduces the sources of income 
generation and the chance of tax evasion by 
the taxpayers in the country & their mother 
country or both countries.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only
	 (c) 	1 and 2 only 	 (d) 	 1, 2 and 3

	 27.	 In the context of National Wind-Solar Hybrid 
Policy, consider the following statements:

	 1. 	The Ministry of New and Renewable Energy 
has released this policy for the purpose of 
promoting renewable energy production in 
the country.

	  2. 	This policy provides the tariff based 
transparent bidding process for purchasing 
electricity from the hybrid project.

	  3.	 Under this policy, the use of battery storage 
in hybrid projects has not been allowed.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 1
	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 1 vkSj 2
	28.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ^vkèkkjHkwr tSo b±èku* esa igyh ih<+h esa 

ck;ksbFksukWy vkSj ck;ksMh”ky dks j[kk x;k gSA

	 2.	 jk"Vªh; tSo b±èku uhfr&2018 esa bFksukWy mRiknu 
ds fy;s dPps eky ds :i eas xUus dk jl] 
pqdUnj] LohV lks?kZe ,oa LVkpZ ;qDr inkFkks± ds 
bLrseky dh vuqefr nh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 29.	xzhu fLdy MsoyiesaV izksxzke ds lanHkZ eas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g izksxzke i;kZoj.k] ou ,oa tyok;q ifjorZu 

ea=kky; ds varxZr dqN gh jkT;ksa esa pyk;k tk 
jgk gSA

	 2.	 bldk mís'; ns'k esa izkÑfrd lalkèkuksa ds lrr~ 
laj{k.k vkSj izcaèku ds fy;s o"kZ 2021 rd 5-5 
yk[k ls vfèkd ;qok Jfedksa dks izf'kf{kr djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	30.	varjkZ"Vªh; tSo&fofoèkrk fnol ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 ;g izfro"kZ 21 ebZ dks euk;k tkrk gSA

	 2.	 la;qDr jk"Vª egklHkk us o"kZ 2000 eas bl fnol 
dks euk, tkus dh ?kks"k.kk dh FkhA

	 3.	 tSo fofoèkrk 'kCn dk loZizFke iz;ksx oU;tho 
oSKkfud vkSj laj{k.koknh jseaM ,iQ- nLeku us 
viuh iqLrd ^, fMiQjsaV dkbaM vkWiQ daVªh* eas 
fd;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 dsoy 2
	31.	^vklsZfud lsalj vkSj fjewoy ehfM;k* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;sA
	 1.	 ;g ,d mPp laosnu'khy midj.k gSA

	 2.	 ;g ty eas ?kqyu'khy vklsZfud 3 dk irk yxkus 
eas l{ke gSA

	 3.	 ;g ihus ds ikuh esa ?kqyu'khy vklsZfud dh 
ikV~lZ ij fefy;u ds Lrj rd dh igpku dj 
ldrk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	2 only 	 (b) 	 1 only
	 (c) 	1 and 3 only 	 (d) 	 1 and 2 only

	 28. 	Consider the following statements:
	 1. 	Bioethanol and biodiesel have been included 

in the first generation of 'Basic Biofuels'.
	 2. 	In the National Policy on Biofuels-2018, 

permission for the use of sugarcane juice, 
beetroot, sweet sorghum and raw materials 
containing starch as raw material for ethanol 
production has been permitted.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 29. 	In context of the Green Skills Development 
Programme, consider the following statements:

	  1. 	This program is being run under the Ministry 
of Environment, Forest and Climate Change 
in few states.

	  2. 	Its aim is to train 5.5 lakh young workers by 
the year 2021 for the sustainable protection 
and management of natural resources in the 
country.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2	 (d)	 Neither 1 nor 2

	 30.	 In the context of International Biodiversity Day, 
consider the following statements:

	  1. 	It is celebrate on May 21 every year.
	  2. 	The United Nations General Assembly had 

announced the celebration of this day in the 
year 2000.

	  3. 	The word ‘biodiversity’ was first used 
by wildlife scientist and conservationist 
Raymond F. Dasmann in his book 'A 
Different Kind of Country'.

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	2 and 3 only 	 (b) 	 1 and 2 only
	 (c) 	3 only 	 (d) 	 2 only

	 31.	 In the context of 'Arsenic Sensor and Removal 
Media', consider the following statements.

	 1.	 This is a highly sensitive tool.
	  2. 	It is able to detect water soluble arsenic 3.
	  3. 	It can identify the water of soluble arsenic 

in drinking water up to the level of million. 
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 2
	32.	^nf{k.k ,f'k;k oU;tho izorZu usVodZ* ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g oU;thoksa dh rLdjh ij jksd yxkus okyk 
nf{k.k ,f'k;kbZ ns'kksa dk ,d varjljdkjh laxBu gSA

	 2.	 bldh LFkkiuk o"kZ 2011 eas viQxkfuLrku] 
ckaXykns'k] HkwVku] Hkkjr] ekynho] usiky] 
ikfdLrku vkSj Jhyadk }kjk dh xbZ FkhA

	 3.	 bldk lfpoky; <kdk eas fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3
	33.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr isfjl tyok;q le>kSrs dk ,d gLrk{kjdÙkkZ 
ns'k gSA Hkkjr us 2 vDVwcj] 2016 dks bl le>kSrs 
ij gLrk{kj fd;k FkkA

	 2.	 xzhu DykbesV iaQM la;qDr jk"Vª ds izfr tokcnsg 
gS vkSj ;g UNFCCC ds fl¼karksa ,oa izkoèkkuksa 
}kjk funsZf'kr gSA

	 3.	 xzhu DykbesV iaQM ,d cgqi{kh; foÙkh; laLFkk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3
	34.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ^HkkHkk dop* ,d cqysVizwiQ tSdsV gS ftldk 
fodkl bljks us fd;k gSA

	 2.	 ^lkxj dop* ,d rVh; lqj{kk vH;kl gSA bl 
lSU;kH;kl dk vk;kstu o"kZ esa nks ckj fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	35.	fo'o dh uko&ifjØek dh vko';d 'krks± ds lanHkZ eas 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 nks ckj Hkweè;js[kk dks ikj djukA

	 2.	 lHkh ns'kkarjksa ls gksdj xq”kjukA

	 3.	 fo'o ds rhu cM+s varjhiksa (dsi fy;qfou] dsi 
gkWuZ vkSj dsi vkWiQ xqMgksi) ls gksdj xq”kjukA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	3 only	 (b) 	 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1 and 2 only

  32.		 Consider the following statements in reference to 
the ‘South Asia Wildlife Enforcement Network’: 

	  1. 	It is an intergovernmental organization of 
South Asian countries which prohibits the 
smuggling of wildlife. 

	  2. 	It was established in the year 2011, by 
Afghanistan, Bangladesh, Bhutan, India, 
Maldives, Nepal, Pakistan and Sri Lanka.

	  3. 	The Secretariat is located in Dhaka. 
	  	Which of the statement(s) given above is/are 

correct?
	 (a) 	1 and 3 only 	 (b) 	 3 only 
	 (c) 	1 and 2 only 	 (d) 	 1, 2 and 3

  33.		 Consider the following statements: 
	  1. 	India is a signatory country of the Paris 

Climate Agreement. India signed the 
agreement on October 2, 2016. 

	  2. 	Green Climate Fund is responsible to the 
United Nations and it is guided by principles 
and provisions of the UNFCCC. 

	  3.	 Green Climate Fund is a multilateral financial 
institution. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	2 only 	 (b) 	 3 only 
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3 

  34.		 Consider the following statements: 
	  1. 	'Bhabha Kavach' is a bulletproof jacket 

developed by ISRO. 
	  2. 	'Sea Shield' is a coastal safety practice. This 

parade is organized twice a year. 
		  Which of the statement(s) given above is/are 

correct?
	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

  35.		 Consider the following statements in terms of the 
requirements for the circumnavigation of the earth: 

	  1. 	Crossing the equator twice. 
	  2. 	Pass through all the longitudes.
	  3. 	Passing the world's three major entities (Cape 

Leeuwin, Cape Horn and Cape of Good 
hope). 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1, 2 and 3 	 (d) 	 2 only 
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	36.	^gfjeÅ 'kfDr* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bl lSU;kH;kl dk vk;kstu eysf'k;k esa fd;k x;kA

	 2.	 ;g igyh ckj gS tc eysf'k;k dh Hkwfe ij 
Hkkjr&eysf'k;k ds lSfudksa dk cM+s iSekus ij 
la;qDr izf'k{k.k lSU;kH;kl dk vk;kstu fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	37.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dkmaVj Vsjfj”e lSU; vH;kl dks ihl fe'ku&2018 
uke fn;k x;k gSA

	 2.	 ^ukfodk lkxj ifjØek* dk mn~ns'; jk"Vªh; lSU; 
l'kDrhdj.k uhfr ds vuq:i lSU; 'kfDr ds iw.kZ 
fodkl dks c<+kok nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 38.	Ñ".kk lfdZV ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g i;ZVu ea=kky; dh Lons'k n'kZu ;kstuk ds 
rgr igpkus x, 15 èkkfeZd lfdZVksa esa ls ,d gSA

	 2.	 ;g lfdZV 6 jkT;ksa esa iSQys gq, gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	39.	Lons'k n'kZu ;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 2014&15 esa i;ZVu ea=kky; }kjk ;g ;kstuk 
ykbZ xbZA 

	 2.	 bldk mís'; ns'k esa Fkhe vkèkkfjr i;ZVu lfdZVksa 
dk fodkl djuk gSA

	 3.	 ;g ;kstuk dsanz vkSj jkT; ljdkjksa }kjk 50&50 
izfr'kr foÙkiksf"kr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1  vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 3	 (d)	 dsoy 1
	40.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (Lekjd dk uke)		 (i;ZVu LFky)

	 1.	 dey egy	 %	 gEih (dukZVd)

	 2.	 jkeIik eafnj	 %	 iykeisV (rsyaxkuk)

	 3.	 xkSeq[k of'k"B vkJe	 %	 ekmaV vkcw (jktLFkku)

	 4-	 nsofj;k egknso	 %	 fpÙkkSM+x<+ (jktLFkku)

  36.		 In the context of Harimau Shakti, consider the 
following statements: 

	  1. 	This parade are conducted in Malaysia. 
	  2.	 This is the first time that a large number of 

joint military exercise of Indian-Malaysia 
soldiers were organized on the land of 
Malaysia.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2 

	 37.	 Consider the following statements: 
	  1. 	Counter Terrorism Military Practice has been 

named Peace Mission-2018. 
	  2. 	'Navika Sagar Parikrama' aims to promote 

full development of military power according 
to the National Military Empowerment 
Policy. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

 	38.	 In the context of the Krishna Circuit, consider the 
following statements: 

	  1.	 It is one of the 15 religious circuits identified 
under the Swadesh Darshan scheme of the 
Ministry of Tourism. 

	  2. 	These circuits are spread over 6 states. 
	  	Which of the statement(s) given above is/are 

correct?
	 (a) 	1 only	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 39.	 Consider the following statements in the context 
of Swadesh Darshan Yojana: 

	  1. 	This plan was initiated by Tourism Ministry 
in 2014-15. 

	 2. 	Its aim is to develop theme based tourism 
circuits in the country. 

	  3. 	This scheme is financed 50-50 percent by the 
central and state governments. 

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only 	 (b) 	 1 and 2 only 
	 (c) 	3 only 	 (d) 	 1 only 

	 40.	 Consider the following combinations: 

		  (Name of the monument)  (tourist place) 
	  1. 		Kamal Mahal 	 :	 Hampi (Karnataka)
	  2. 		Ramappa Temple 	 :	 Palampet (Telangana)
	  3.	 Gaumukh Vashistha :		 Mount Abu (Rajasthan)
		  Ashram 		
	  4. 	Deoria Mahadev 	 : 	Chittorgarh (Rajasthan)
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	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2, 3 vkSj 4	 (d)	 1] 2, 3 vkSj 4
	 41.	vrqY; Hkkjr vfHk;ku ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl vfHk;ku dh 'kq#vkr Hkkjrh; i;ZVu foHkkx 
us 2002 eas dh Fkh ftldk mn~ns'; Hkkjrh; i;ZVu 
dks oSf'od eap ij mHkkjuk FkkA

	 2.	 bl vfHk;ku ds rgr dsoy fgeky; dh vksj 
varjkZ"Vªh; lewg dk è;ku vkdf"kZr fd;k x;kA 

	 3.	 ns'k dh i;ZVu {kerk dks fo'o ds le{k izLrqr 
djus okyk ;g bl izdkj dk igyk iz;kl FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3

	 (c)	 dsoy 2	 (d)	 1] 2 vkSj 3
	42.	cq¼ t;arh lekjksg ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 laLÑfr ea=kky; us bl lekjksg dk vk;kstu 
baVjus'kuy cqf¼LV dUisQMjs'ku ds lkFk feydj 
fd;kA

	 2.	 fcgkj ljdkj }kjk cq¼ iwf.kZek dks bl lekjksg 
dk vk;kstu fd;k x;kA

	 3.	 i;ZVu ea=kky; }kjk gj nks lky esa ,d cq¼k 
dkWUizssaQl dk vk;kstu fd;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3
	43.	^buj ykbu ijfeV* ds lanHkZ eas fuEufyf[kr dFkuksa ij 

fopkj dhft;sA

	 1.	 bl ijfeV ds rgr gky gh esa i;ZVu ea=kky; 
us fons'kh ukxfjdksa dks fcuk vuqefr ds uxkySaM] 
fe”kksje vkSj ef.kiqj esa ;k=kk djus dh ea”kwjh ns 
nh gSA

	 2.	 blds rgr ikfdLrku] phu vkSj viQxkfuLrku 
ds ukxfjdksa dks NwV ugha nh xbZ gSA

	 3.	 bldk mn~ns'; iwoksZÙkj ds jkT;ksa esa i;ZVu dks 
c<+kok nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 2	

	 (b)	 dsoy 1

	 (c)	 dsoy 3	

	 (d)	 dsoy 2 vkSj 3

 		  Which of the above pair(s) is / are correctly matched?
	 (a) 	1 and 2 only 	 (b) 	 3 only 
	 (c) 	2 ,3 and 4 only 	 (d) 	 1, 2, 3 and 4 

 	41.	 Consider the following statements in the context 
of Incredible India Campaign: 

	 1.	 The campaign was initiated by the Indian 
tourism department in 2002 to highlight the 
Indian tourism on a global level. 

	 2. 	Under this campaign, the attention of the 
International tourists was attracted only 
towards the Himalayan region. 

	 3.	 This was the first such effort of presenting 
the country's tourism potential to the world. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 1 and 3 only 
	 (c) 	2 only 	 (d) 	 1, 2 and 3 

	 42.	 Consider the following statements in reference to 
the Buddha Jubilee celebrations: 

	 1.	 The Ministry of Culture organized this 
event jointly with the International Buddhist 
Confederation. 

	 2. 	This  programme was organized by 
Government of Bihar, on Buddha Purnima. 

	 3. 	The  Buddhist conference is organized once 
in two years by the Ministry of Tourism. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only 	 (b) 	 2 only 
	 (c) 	2 and 3 only 	 (d) 	 3 only 
  43.		 In the context of 'Inner Line Permit', consider the 

following statements. 
	  1. 	Under this permit recently, the Ministry of 

Tourism has approved foreign citizens to 
travel in Nagaland, Mizoram and Manipur 
without permission. 

	  2. 	The citizens of Pakistan, China and 
Afghanistan have not been granted any 
exemption under this scheme. 

	 3. 	Its purpose is to promote tourism in the states 
of the northeast. 

 		  Which of the above statement(s) is / are not 
correct?

	 (a) 	2 only 	
	 (b) 	1 only 
	 (c) 	3 only 	
	 (d) 	2 and 3 only 
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	 44.	^LVMh bu bafM;k* dk;ZØe ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g dk;ZØe dsoy ekuo lalkèku fodkl ea=kky; 
,oa x`g ea=kky; dh la;qDr igy gSA

	 2.	 ;g fons'kh fo|kfFkZ;ksa ds fy;s Hkkjr ds tkus&ekus 
f'k{k.k laLFkkuksa ds njok”ks [kksysxhA

	 3.	 bl dk;ZØe ds rgr ^LVMh bu bafM;k* uke ls 
,d osc iksVZy dh 'kq#vkr dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 2
	45.	rk”kegy ds cnyrs jax ds lanHkZ eas fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ^,e-lh- esgrk cuke Hkkjr ljdkj* ekeys eas 
lqizhe dksVZ yxkrkj rk”kegy ds vkl&ikl 
i;kZoj.k dh fuxjkuh dj jgk gSA

	 2.	 rk”k VªSisf”k;e ”kksu esa fLFkr iznw"k.kdkjh m|ksx 
vkSj okguksa }kjk mRlftZr iznw"k.k rk”kegy ds jax 
eas cnyko dk izeq[k dkj.k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	46.	[kksaxtkse fnol ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ef.kiqj ljdkj 23 vizSy dks izfro"kZ ;g fnol 
eukrh gSA 

	 2.	 [kksaxtkse ef.kiqj ds FkkScy f”kys dk ,d pfpZr 
i;ZVu LFky gSA

	 3.	 ;g fnol 1891 ds ,aXyks&ef.kiqj ;q¼ dh Le`fr 
eas euk;k tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3
	 47.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 (egÙoiw.kZ fnol) 	 (ftl fnu euk;k 
		  tkrk gS)

	 1.	 varjkZ"Vªh; ifjokj fnol 	 %	 15 ebZ

	 2.	 vkradokn fujksèkd fnol	 %	 21 ebZ

	 3.	 jk"Vªh; Msaxw fnol	 %	 16 ebZ

	 4-	 fo'o Fkk;jkbM fnol	 %	 20 ebZ

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\
	 (a)	 dsoy 2	 (b)	 dsoy 2, 3 vkSj 4
	 (c)	 dsoy 1, 2 vkSj 3	 (d)	 1] 2, 3 vkSj 4

	 44.	 Consider the following statements in the context 
of the 'Study in India' programme: 

	  1.	 The program is a joint initiative of the Human 
Resource Development Ministry and Home 
Ministry only. 

	  2. 	It will open the doors of renowned educational 
institutions of India for foreign students. 

	  3. 	Under this program, a web portal named 
'Study in India' has been started. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 1 and 3 only 
	 (c) 	2 and 3 only 	 (d) 	 2 only 

  45.		 Regarding the change in color of the Taj Mahal, 
consider the following statements: 

	  1.	 In 'M.C Mehta v/s. Government of India', the 
Supreme Court is constantly monitoring the 
environment around the Taj Mahal. 

	  2. 	Pollutants emitted by the industries and 
vehicles located in the Taj Trapezium Zone is 
the main reason for the change in the colour 
of the Taj Mahal. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

  46.		 Regarding the Khongjom Day, consider the 
following statements: 

	  1. 	Manipur Government celebrates this day 
every year on 23rd April. 

	  2. 	Khongjom is a popular tourist destination in 
Thoubal district of Manipur. 

	  3. 	It is celebrated in the memory of the Anglo-
Manipur War of 1891. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 1 and 2 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 

	 47.	 Consider the following combinations: 
		  (Important day)		  (Celebrated on )
	 1.	 International Day of 	 : 	 May 15
		  families 	
	 2. 	Anti Terrorism Day	  : 	 May 21
	 3. 	National Dengue Day : 	 May 16
	 4. 	World Thyroid days 	 :	 May 20

 		  Which of the given above pair(s) is / are correctly 
matched?

	 (a) 	2 only	 (b) 	 2, 3 and 4 only
	 (c) 	1 2 and 3 only	 (d) 	 1, 2, 3 and 4 
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	 48.	^iapk;r micaèk (vuqlwfpr {ks=kksa ij foLrkj) vfèkfu;e] 

1996’ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 izR;sd xzke esa ,d xzke lHkk gksxh tks yksxksa dh 

ijaijkvksa] fjok”kksa dks lajf{kr vkSj lqjf{kr djus 

ds fy;s l{ke gksxhA

	 2.	 xzke lHkk ds ikl vuqlwfpr tutkfr;ksa dks mèkkj 

nsus dh izfØ;k dks fu;fer djus] xk¡o ds ck”kkjksa 

dk izcaèku djus] fdlh Hkh eknd inkFkZ ds 

mi;ksx ;k foØ; dks izfrcafèkr ;k fu;fer djus 

dh 'kfDr gksxhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 49.	^dk;ZLFky ij efgykvksa dk ;kSu mRihM+u (jksdFkke] 

izfr"ksèk vkSj fuokj.k) vfèkfu;e] 2013’ ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g vfèkfu;e dk;ZLFky ij efgykvksa dks ;kSu 

mRihM+u ds fo#¼ lqj{kk iznku djrk gSA

	 2.	 bl vfèkfu;e ds vuqlkj 20 ;k mlls vfèkd 

deZpkjh okys izR;sd laxBu dks ,d 4 lnL;h; 
vkarfjd f'kdk;r lfefr dk xBu djuk vfuok;Z 

gSA 

	 3.	 efgyk }kjk ;kSu mRihM+u dh f'kdk;r 3 eghus 
dh le;&lhek esa ntZ dh tk ldrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	50.	^izèkkuea=kh ekr` oanuk ;kstuk (ih,e,eohokbZ)* ds lanHkZ 

esa] fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 ns'k ds pqfuank f”kyksa esa ;g ;kstuk o"kZ 2018 
ls 2020 ds eè; fØ;kfUor dh tk,xhA

	 2.	 bl ;kstuk ds }kjk xHkZorh efgykvksa dks 6000 
#i, dh vkfFkZd lgk;rk nh tk,xhA

	 3.	 ;g ;kstuk mu efgykvksa ds fy;s Hkh ykxw gksxh 

tks fdlh vU; ;kstuk ;k dkuwu ds rgr leku 

ykHk izkIrdÙkkZ gSaA

	 	dwV%

	 (a)	 dsoy 2 vkSj 3	

	 (b)	 dsoy 2

	 (c)	 dsoy 1 vkSj 3 	

	 (d)	 1, 2 vkSj 3

  48.		 In the context of ‘The Provisions of Panchayats 
(Extension to Scheduled Areas) Act, 1996’, 
consider the following statements: 

	  1. 	Each village will have a Gram Sabha which 
will be capable of preserving and protecting 
the people's traditions and customs. 

	  2. 	Gram Sabha will have the power to regularize 
the process of lending to Scheduled Tribes, 
manage village markets, restrict or regulate 
the use or sale of any drug substance. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

  49.		 In the context of the ‘Sexual Harassment of Women  
at  Workplace (Prevention, Prohibition and Redressal) 
Act, 2013’, consider the following statements: 

	 1.	 This Act provides protection against sexual 
harassment of women at the workplace. 

	 2. 	According to this act, it is compulsory to 
constitute a 4 member internal complaints 
committee for each organization having 20 
or more employees. 

	  3. 	Sexual harassment complaint can be filed by 
a woman within a time limit of 3 months. 

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 

 50. 		 In the context of the ‘Prime Minister's Matritva 
Vandana Yojana (PMMVY)’, which of the 
following statement(s) is / are correct? 

	  1. 	This scheme will be implemented between 
2018 and 2020 in the selected districts of  the 
country. 

	  2. 	Under this scheme, financial assistance 
of 6000 rupees will be given to pregnant 
women. 

	  3. 	This scheme will also be applicable to those 
women who are equal beneficiaries under 
any other scheme or law. 

	  	Code:
	 (a) 	2 and 3 only 	
	 (b) 	2 only 
	 (c) 	1 and 3 only 		
	 (d) 	1, 2 and 3 
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	 51.	^ekr`Ro ykHk (la'kksèku) vfèkfu;e] 2017’ ds lanHkZ 

esa] fuEufyf[kr dFkuksa esa ls dkSu&lk@ls vlR; gS@gSa\

	 1.	 ;g vfèkfu;e 10 ;k mlls vfèkd O;fDr;ksa dks 

jks”kxkj nsus okys lHkh laLFkkuksa ij ykxw gksrk gSA

	 2.	 ;g vfèkfu;e laxfBr {ks=k dh lHkh dkexkj 

efgykvksa dks 12 lIrkg dk ekr`Ro ykHk iznku 

djrk gSA

	 3.	 bl vfèkfu;e ds vuqlkj ekr`Ro ykHk dk mi;ksx 

izlo dh visf{kr rkjh[k ls 10 lIrkg ls igys 
ugha fd;k tk ldrkA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 52.	^lqxE; Hkkjr vfHk;ku* ds lanHkZ eas] fuEufyf[kr dFkuksa 

esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g vfHk;ku fnO;kaxksa dks lkoZHkkSfed igq¡p iznku 

djus gsrq lkekftd U;k; ,oa vfèkdkfjrk ea=kky; 

ds fnO;kaxtu l'kDrhdj.k foHkkx }kjk 'kq: fd;k 

x;k gSA 

	 2.	 bl vfHk;ku dh vofèk 10 o"kks± dh gSA

	 	dwV%

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	

	 (d)	 u rks 1 vkSj u gh 2
	 53.	fuEufyf[kr dFkuksa esa ls dkSu&ls ,tsaMk&2030 ds y{;ksa 

esa 'kkfey gaS\

	 1.	 ySafxd lekurk ,oa efgyk l'kDrhdj.kA

	 2.	 xjhch ds lHkh :iksa dh iwjs fo'o ls lekfIrA

	 3-	 lqjf{kr] yphys] fVdkmQ 'kgjksa rFkk ekuo cfLr;ksa 

dk fuekZ.kA 

	 4.	 Hkw[k dh lekfIr] [kk| lqj{kk] csgrj iks"k.k ,oa 

fVdkmQ Ñf"k dks c<+kokA 

	 5.	 lLrh] fo'oluh;] fVdkmQ vkSj vkèkqfud mQtkZ 

rd igq¡p lqfuf'pr djukA

	 	dwV%

	 (a)	 dsoy 1, 2 vkSj 3	

	 (b)	 dsoy 2, 3 vkSj 4

	 (c)	 dsoy 1, 4 vkSj 5	

	 (d)	 1, 2, 3, 4 vkSj 5

  51. 	In the context of the ‘Maternity Benefit 
(Amendment) Act, 2017’, which of the following 
statement(s) is / are not correct? 

	  1. 	This act is applicable to all institutions 
employing 10 or more persons.

	  2. 	This act provides 12 weeks of maternity 
benefit to all women workers of organized 
sector. 

	 3. 	According to this act, maternity benefit 
cannot be used before 10 weeks from the 
expected date of delivery. 

		  Code:
	 (a) 	1 and 2 only 	 (b) 	 3 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 

  52.		 In the context of the ‘Accessible India Campaign’, 
which of the following statement(s) is / are correct? 

	  1. 	This campaign has been started by the 
Department of Empowerment of Persons 
with Disabilities, Ministry of Social Justice 
and Empowerment to provide universal 
accessibility for persons with disabilities.

	  2. 	The time period of this campaign is 10 years. 

	  	Code:
	 (a) 	1 only 	
	 (b) 	2 only 
	 (c) 	Both 1 and 2	
	 (d) 	Neither 1 nor 2 

  53.		 Which of the following statements are included in 
the goal of Agenda-2030? 

	 1. 	Gender equality and women empowerment. 
	 2. 	Eradication of all forms of poverty from the 

whole world. 
	 3. 	Construction of safe, flexible, sustainable 

cities and human settlements.
	 4. 	Promotion of sustainable agriculture, better 

nutrition, food security and eradication of 
hunger.

	 5. 	Ensuring access to affordable, reliable, 
sustainable and modern energy. 

 		  Code:
	 (a) 	1, 2 and 3 only	
	 (b) 	2 ,3 and 4 only
	 (c) 	1 ,4 and 5 only	
	 (d) 	1, 2, 3, 4 and 5 
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	 54.	fuEufyf[kr esa ls dkSu&lk] ̂ vk;q"eku Hkkjr ;kstuk* dk 
,d iz;kstu ugha gS\

	 (a)	 10 djksM+ xjhc vkSj de”kksj rcds ds ifjokjksa 
(yxHkx 50 djksM+ ykHkkFkhZ) dks f}rh;d vkSj 
r`rh;d ns[kHkky gkWfLiVy ds fy;s izfr ifjokj] 
izfro"kZ ̀ 10 yk[k rd dk ykHk doj iznku djukA

	 (b)	 bl ;kstuk ds rgr doj ykHkkFkhZ dks ns'k Hkj esa 
dgha Hkh fdlh Hkh lkoZtfud ;k futh lwphc¼ 
gkWfLiVy ls udnjfgr ykHk dh lqfoèkk iznku 
djukA

	 (c)	 lgdkjh la?kokn dks c<+kok nsuk vkSj jkT;ksa ds 
lkFk lacaèkksa esa yphykiu ykukA

	 (d)	 O;kid LokLF; lqfoèkk,¡ miyCèk djkus gsrq 1.5 
yk[k LokLF; vkSj dY;k.k dsanz LFkkfir djukA

	 55.	^jk"Vªh; vdknfed fMikWf”kVjh* ds lanHkZ esa] fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 jk"Vªh; vdknfed fMikWf”kVjh vdknfed iqjLdkjksa 

ds fy;s ,d vkWuykbu LVksjst lqfoèkk iznku 

djrh gSA

	 2.	 jk"Vªh; vdknfed fMikWf”kVjh dk lapkyu djus 

ds fy;s fo'ofo|ky; vuqnku vk;ksx dks izkfèkÑr 

fd;k x;k gSA

	 	dwV%

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	

	 (d)	 u rks 1 vkSj u gh 2
	 56.	^ou èku ;kstuk* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bl ;kstuk dk eq[; mís'; ewY; lao¼Zu ds }kjk 

tutkrh; yksxksa dh vk; esa o`f¼ djuk gSA

	 2.	 bl ;kstuk ds varxZr 30&30 O;fDr;ksa ds 10 

Lo;a lgk;rk lewg cuk, tk,axs] ftUgsa ou mRiknksa 

ds fo"k; esa izf'k{k.k iznku fd;k tk,xk rFkk ou 

mRiknksa ds ewY; lao¼Zu gsrq dk;Z'khy iwath Hkh 

iznku dh tk,xhA

	 3-	 Vªkbcy dksvkWijsfVo ekdsZfVax MsoyiesaV isQMjs'ku 

vkWiQ bafM;k (VªkbisQM) bl ;kstuk ds fy;s 

izf'k{k.k ,oa rduhdh lgk;rk iznku djsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

  54.		 Which of the following is not an objective of 
'Ayushman Bharat Scheme'? 

	 (a) 	Providing coverage upto 10 lakh rupees per 
family per year for secondary and tertiary 
care hospitalization to 10 crore poor and 
vulnerable families (approximately 50 crore 
beneficiaries).

	 (b) 	Providing cashless facility of benefit to the 
beneficiary covered under this scheme from 
any public or private empanelled hospital 
across the country. 

	 (c) 	Promoting co-operative federalism and bring 
flexibility in relations with the states.

	 (d) 	Establishing1.5 lakh health and wellness 
centers to provide comprehensive health 
facilities. 

  55.		 In the context of the ‘National Academic 
Depository’, which of the following statement(s) 
is / are correct? 

	  1. 	National Academic Depository provides an 
online storage facility for academic awards. 

	  2. 	The University Grants Commission has 
been designated as authorized body to 
opera t iona l i se  Nat iona l  Academic 
Depository. 

 		  Code:
	 (a) 	1 only 	
	 (b) 	2 only 
	 (c) 	Both 1 and 2	
	 (d) 	Neither 1 nor 2

  56.		 In the context of the ‘Van Dhan Yojana’, consider 
the following statements: 

	  1. 	The main purpose of this scheme is to 
increase the income of tribal people by value 
addition. 

	  2. 	Under this scheme, 10 self-help groups of 30 
persons each will be constituted and they will 
be trained for forest products and working 
capital will also be provided to them for the 
value addition of forest products. 

	  3. 	The Tribal  Cooperat ive Market ing 
Development Federation of India (TRIFED) 
will provide training and technical support 
for this scheme.

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 3 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 
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	 57.	^jk"Vªh; xzke Lojkt vfHk;ku* ds lanHkZ eas] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bldh fØ;kUo;u vofèk vizSy 2018 ls ekpZ 
2022 rd gSA

	 2.	 bldk mn~ns'; xzkeh.k LFkkuh; fudk;ksa dks 
èkkj.kh;] vk£Fkd :i ls fLFkj vkSj ”;knk 
n{krkiw.kZ cukdj iapk;rh jkt O;oLFkk dks lqn`<+ 
djuk gSA

	 3.	 blesa rhu ?kVd& dsanzh; ?kVd] jkT; ?kVd ,oa 
iapk;r ?kVd lfEefyr gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3
	 58.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ou LVkWi lsaVj ;kstuk dh 'kq#vkr 1 vizSy] 

2015 dks dh xbZ FkhA

	 2.	 ou LVkWi lsaVj ;kstuk dk y{; fgalk ihfM+r 
efgykvksa dks iqfyl lgk;rk] fpfdRlk lgk;rk] 
euksoSKkfud lgk;rk vkSj dkuwuh ijke'kZ tSlh 
,dhÑr lsok,¡ miyCèk djkuk gSA 

	 3-	 ns'k dk izFke ou LVkWi lsaVj NÙkhlx<+ ds lqdek 
f”kys eas cuk;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 59.	^jk"Vªh; iks"k.k vfHk;ku* ds lanHkZ eas] fuEufyf[kr dFkuksa 

esa ls dkSu&lk@ls lgh gS@gSaa\
	 1.	 bl vfHk;ku dk vkjaHk 8 ekpZ] 2018 dks jktLFkku 

ds >qa>quw f”kys ls fd;k x;k gSA

	 2.	 ;g vfHk;ku lHkh jkT;ksa o dsanz'kkflr izns'kksa ds 
215 f”kyksa esa pyk;k tk,xkA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2
	 60.	^izèkkuea=kh LokLF; lqj{kk ;kstuk* ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g ;kstuk o"kZ 2005 esa vkjaHk dh xbZ FkhA
	 2.	 bl ;kstuk dk mís'; r`rh;d LokLF; lqfoèkkvksa 

es a {k s=kh; vlarqyu dks de djuk rFkk 
xq.koÙkk;qDr fpfdRlk f'k{kk dks izksRlkfgr 
djuk gSA

	 3-	 bl ;kstuk ds 2 ?kVd gSa& u, vf[ky Hkkjrh; 
vk;qfoZKku laLFkku dh LFkkiuk djuk rFkk ljdkjh 
esfMdy dkWystksa dk mUu;u djukA

	 57.	 In the context of the ‘Rashtriya Gram Swaraj 
Abhiyan’, consider the following statements: 

	  1. 	Implementation period of this from April 
2018 to March 2022. 

	  2. 	It's aim is to strengthen the Panchayati 
Raj System by making rural local bodies 
sustainable, financially stable and more 
efficient. 

	  3. 	It consists of three components- the central 
component, the state component and the 
panchayat component. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 3 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 

 	58. 	Consider the following statements: 
	 1. 	One Stop Center Scheme was started on April 

1, 2015. 
	 2. 	One Stop Center Scheme aims to provide 

integrated services like police assistance, 
medical assistance, psychological assistance 
and legal counselling to women affected by 
violence. 

	 3. 	The country's first One Stop Center has been 
started in the Sukma district of Chhattisgarh.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b)	 3 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 

  59. 	In the context of the ‘National Nutrition Mission’, 
which of the following statement(s) is / are correct? 

	  1. 	This mission has been started from Jhunjhunu 
district of Rajasthan on March 8, 2018. 

	  2. 	This mission will run in 215 districts of all 
states and union territories. 

	  	Code:
	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2 

 	60.	 In the context of the ‘Prime Minister Health 
Insurance Scheme’, consider the following 
statements: 

	 1. 	This scheme was started in the year 2005. 
	 2. 	The aim of this scheme is to reduce regional 

imbalance in tertiary health facilities and to 
promote quality medical education. 

	 3. 	There are 2 components of this scheme- 
establishing new All India Institute of 
Medical Sciences and upgradation of 
Government Medical Colleges.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 61.	^jk"Vªh; ekufld LokLF; iquokZl laLFkku* dh LFkkiuk 

fuEufyf[kr 'kgjksa esa ls dgk¡ dh tk,xh\

	 (a)	 Hkksiky	 (b)	 fnYyh

	 (c)	 vgenkckn	 (d)	 bankSj
	 62.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fdlh xk¡o ds iw.kZ fo|qrhdj.k gsrq ogk¡ vofLFkr 
?kj] Ldwy] LFkkuh; iz'kklfud dk;kZy; vkSj 
LokLF; dsanzksa lfgr lkoZtfud LFkkuksa dh dqy 
la[;k ds dsoy 20% LFkkiR; esa gh fctyh dk 
igq¡puk vfuok;Z gSA

	 2.	 ef.kiqj dk yslkax xk¡o xzkeh.k fo|qrhdj.k ;kstuk 
ds rgr jk"Vªh; fctyh fxzM eas tksM+k tkus okyk 
izFke xk¡o gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 63.	^mUur Hkkjr vfHk;ku 2.0’ ds lanHkZ esa] fuEufyf[kr 

dFkuksa eas ls dkSu&lk@ls vlR; gS@gSa\
	 1.	 bldk eq[; mís'; rduhd ds ekè;e ls xzkeh.k 

leqnk;ksa ds fodkl dh pqukSfr;ksa dk lekèkku 
djus ds fy;s mPp 'kS{kf.kd laLFkkuksa dks 'kkfey 
dj lekos'kh Hkkjr dk fuekZ.k djuk gSA

	 2.	 bl vfHk;ku ds rgr ns'k Hkj ds 750 mPp f'k{k.k 
laLFkkuksa ds Nk=kksa }kjk xk¡oksa dks xksn fy;k tk,xkA

	 3-	 vkbZ-vkbZ-Vh- dkuiqj dks bl dk;ZØe ds fy;s 
jk"Vªh; leUo; laLFkku ds :i eas dk;Z djus gsrq 
ukfer fd;k x;k gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3
	 64.	^LokLF; uhfr&2017’ ds lanHkZ esa] fuEufyf[kr dFkuksa 

esa ls dkSu&lk@ls lR; gS@gSa\
	 1.	 rEckdw ds bLrseky ds orZeku izlkj dks 2020 

rd 15% vkSj 2025 rd 30% rd de djukA
	 2.	 o"kZ 2025 rd n`f"Vghurk ds izlkj dks ?kVkdj  

0.25/1000 djukA
	 3-	 {k; jksx dks o"kZ 2025 rd lekIr djus gsrq 

blds u, ekeyksa esa deh ykukA
	 	dwV%
 	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 

  61. 	Where among the following cities will ‘National  
Mental Health Rehabilitation Institute’ be 
established? 

	 (a) 	Bhopal 	 (b) 	 Delhi 
	 (c) 	Ahmedabad 	 (d) 	 Indore

  62.		 Consider the following statements: 
	 1. 	It is mandatory to electrify only 20% of all 

the structures of the total number of public 
places including houses, schools, local 
administrative offices and health centers for 
complete electrification of any village. 

	 2. 	Leisang village of Manipur is the first village 
to be added to the National Electricity Grid 
under the Village Electrification Scheme. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 63. 	In the context of the ‘Unnat Bharat Abhiyan 2.0’, 
which of the following statement(s) is/are not 
correct? 

	 1.	 It's main purpose is to build an inclusive 
India by involving high educational 
institutions to solve the challenges of 
development of rural communities through 
technology. 

	 2.	 Under this scheme, villages will be adopted 
by the students of 750 higher educational 
institutions across the country. 

	 3. 	IIT Kanpur has been nominated to work 
as a national coordination institute for this 
programme. 

		  Code:
	 (a) 	1 and 2 only 	 (b) 	 2 and 3 only 
	 (c) 	3 only 	 (d) 	 1, 2 and 3 

	 64.	 In the context of the ‘Health Policy-2017’, which 
of the following statement(s) is/are true? 

	  1. 	Reducing the current spread of tobacco use 
by 15% till 2020 and upto 30% by 2025. 

	  2. 	Reducing the spread of visual imparity to 
0.25/1000 by 2025. 

	  3. 	Reducing new cases of tuberculosis by 
eliminating it by year 2025.

	  	Code:
	 (a) 	1 only 	 (b) 	 1 and 3 only 
	 (c) 	2 and 3 only	 (d) 	 1, 2 and 3 
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	65.	^jk"Vªh; fpfdRlk vk;ksx foèks;d] 2017’ ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g foèks;d esfMdy dkmafly ,DV] 1956 dks 
fujLr djrk gSA

	 2.	 ;g foèks;d ,d 25 lnL;h; jk"Vªh; fpfdRlk 
vk;ksx ds xBu dk izkoèkku djrk gSA

	 3-	 ;g foèks;d v;ksX; o uhe&gdhe fpfdRldksa 
ds fy;s l[r naM dk izkoèkku djrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 1, 2 vkSj 3
	 66.	^jk"Vªh; mPprj f'k{kk vfHk;ku* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 ;g vius nwljs pj.k ds rgr 1 vizSy] 2018 
ls 31 ekpZ] 2020 ds eè; fØ;kfUor fd;k 
tk,xkA

	 2.	 bl vfHk;ku ds rgr mPp f'k{kk esa ldy nkf[kyk 
2020 rd 30% djus dk y{; j[kk x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 67.	^ubZ ,dhÑr f'k{kk ;kstuk* ds lanHkZ esa] fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 1.	 ;g ;kstuk ^lcdks f'k{kk] vPNh f'k{kk* ds 

n`f"Vdks.k ij vkèkkfjr gSA
	 2.	 blesa loZ f'k{kk vfHk;ku (,l,l,)] jk"Vªh; 

ekè;fed f'k{kk vfHk;ku (vkj,e,l,) vkSj f'k{kd 
f'k{k.k vfHk;ku dks lekfgr dj fn;k x;k gSA

	 3-	 bl ;kstuk dk eq[; mís'; f'k{kk ds {ks=k esa lrr~ 
fodkl ds y{;ksa ds vuq:i ulZjh ls ysdj 
ekè;fed Lrj rd lcds fy;s leku :i ls 
lexz vkSj xq.koÙkk;qDr f'k{kk lqfuf'pr djuk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 68.	^jk"Vªh; ijh{kk ,tsalh* ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g ,tsalh mPprj f'k{k.k laLFkkvksa gsrq izos'k ijh{kk,¡ 
vk;ksftr djus ds fy;s ,d Lok;Ùk ,oa vkRefuHkZj 
'kh"kZ ijh{kk laxBu ds :i esa dk;Z djsxhA

	 2.	 ;g ,tsalh mPprj f'k{k.k laLFkkvksa gsrq izos'k 
ijh{kkvksa dk vk;kstu dsanzh; ekè;fed f'k{kk 
cksMZ (lhch,lbZ) ,oa vf[ky Hkkjrh; rduhdh 
f'k{kk ifj"kn (,vkbZZlhVhbZ) ds lg;ksx ls djsxhA

  65.		 In the context of the ‘National Medical Commission 
Bill, 2017’, consider the following statements: 

	  1.	 This bill abrogates the Medical Council Act, 
1956. 

	  2. 	This bill makes a provision for the formation 
of National Medical Commission having 25 
members. 

	 3. 	This bill makes a provision of strict penalties 
for ineligible charlatan physicians.

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 2 only 	 (b) 	 3 only 
	 (c) 	2 and 3 only 	 (d) 	 1, 2 and 3 
  66. 	In the context of the ‘Rashtriya Uchchatar Shiksha 

Abhiyan’, consider the following statements :
	  1. 	It will be implemented in its second phase 

from April 1, 2018 to March 31, 2020. 
	  2. 	Under this scheme, the goal of gross 

enrollment in higher education has been set 
to 30% till 2020. 

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2 
  67. 	In the context of the ‘New Integrated Education 

Scheme’, which of the following statement(s) is/ 
are correct? 

	  1. 	This scheme is based on the vision of ‘Sabko 
Siksha, Achchi Siksha’. 

	  2. 	Sarva Shiksha Abhiyan (SSA), Rashtriya 
Madhymik Shiksha Abhiyan  (RMSA) and 
Teachers’ Education Mission have been 
subsumed in this. 

	  3. 	The main objective of this scheme is to ensure 
inclusive and equitable education for all from 
nursery to senior secondary stage, equally in 
accordance with Sustainable Development 
Goals for Education. 

 		  Code:
	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3
	 68.	 In the context of the ‘National Testing Agency’, 

consider the following statements:
	 1. 	This agency will act as an autonomous and 

self-sustained premier testing organization 
to conduct entrance examinations for higher 
educational institutions. 

	 2. 	This agency will  organize entrance 
examinations for higher educational 
institutions in collaboration with Central 
Board of Secondary Education (CBSE) and 
All India Council for Technical Education 
(AICTE).
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 69.	^ckyJe (fu"ksèk vkSj fu;eu) la'kksfèkr fu;e] 2017’ 

ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk dFku lgh ugha 
gS\

	 (a)	 ;g mu ifjfLFkfr;ksa dks fuèkkZfjr djrk gS ftuesa 
cPps vius ifjokjksa dks dke esa enn iznku dj 
ldrs gSaA

	 (b)	 blesa izkoèkku gS fd cPps vc Ldwy ds ckn dsoy 
2 ?kaVs gh ikfjokfjd m|eksa esa enn dj ldsaxsA

	 (c)	 ;g cPps ;k fd'kksjksa dks ,d dykdkj ds :i esa 
,d fnu esa dsoy 5 ?kaVs vkSj fcuk vkjke ds 3 
?kaVs rd dke djus dh vuqefr nsrk gSA

	 (d)	 blds vuqlkj cPps lk;¡ 7 cts ls lqcg 8 cts 
ds chp ikfjokfjd m|eksa esa enn ugha dj ldsaxsA

	 70.	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls ^jk"Vªh; ofj"B 
ukxfjd uhfr] 2011’ dh izeq[k fo'ks"krkvksa esa 'kkfey 
gS@gSa\

	 1.	 xjhch js[kk ls uhps jgus okys lHkh ofj"B ukxfjdksa 
rd lkoZtfud forj.k iz.kkyh dh igq¡p lqfuf'pr 
djukA 

	 2.	 djkèkku uhfr;ksa dks ofj"B ukxfjdksa dh foÙkh; 
leL;kvksa ds izfr laosnu'khy cukukA

	 3-	 lkekftd U;k; ,oa vfèkdkfjrk ea=kky; }kjk 
ofj"B ukxfjd foHkkx dh LFkkiuk djukA

	 	dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 71.	^cPpksa ds fy;s jk"Vªh; dk;Z ;kstuk] 2016’ ds lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 cPpksa ds fy;s jk"Vªh; dk;Z ;kstuk] 2016 ekuo 
lalkèku fodkl ea=kky; }kjk 'kq: dh xbZ gSA

	 2.	 ;g ;kstuk cPpksa ls lacafèkr eq[;r% vfLrRo] 
LokLF; ,oa iks"k.k] f'k{kk ,oa fodkl rFkk laj{k.k 
,oa Hkkxhnkjh uked pkj {ks=kksa ij è;ku dsafnzr 
djrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	

	 (d)	 u rks 1 vkSj u gh 2

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2 

  69.		 In the context of the ‘Child Labor (Prohibition and 
Regulation) Amendment Rules, 2017’, which of 
the following statement is not correct?

	 (a) 	It provides the circumstances in which 
children can work to help  their families. 

	 (b) 	There is a provision in it that children will 
now work to help their family enterprises 
only for 2 hours after school. 

	 (c) 	This allows the children or adolescents to 
work as an artist for only 5 hours a day and 
3 hours  a day without rest. 

	 (d) 	According to this, children will not be able 
to help in work in their family enterprises 
between 7 pm and 8 am. 

	 70.	 Which of the following statement(s) is/are included 
in the main features of the ‘National Senior Citizen 
Policy, 2011’?

	 1.	 It ensures access to the public distribution 
system to all senior citizens living below the 
poverty line. 

	 2. 	Making taxation policies sensitive to financial 
problems of senior citizens. 

	 3.	 Establishment of Senior Citizen Department 
by Minis t ry  of  Social  Just ice  and 
Empowerment.

		  Code:
	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 

 71.		 In the context of  the ‘National Action Plan for 
Children, 2016’, Consider the following statements

	 1. 	National Action Plan for Children, 2016 
has been started by The Ministry of Human 
Resource Development.

	 2. 	This Plan focuses on four areas primarily 
of children as survival, health and nutrition, 
education and development, protection and 
participation. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	
	 (b) 	2 only 
	 (c) 	Both 1 and 2 	
	 (d) 	Neither 1 nor 2 
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	 72.	^VªkaltsaMj O;fDr (vfèkdkjksa dk laj{k.k) foèks;d] 2016’ 
ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 blesa VªkaltsaMj O;fDr;ksa dh foLr`r ifjHkk"kk nh 
xbZ gSA

	 2.	 ;g foèks;d VªkaltsaMj O;fDr;ksa dks viuh igpku 
gsrq izek.k&i=k izkIr djus dk vfèkdkj nsrk gSA  

	 3-	 ;g ljdkjh ;k futh laLFkkvksa esa jks”kxkj] HkrhZ] 
izksUufr tSls ekeyksa esa VªkaltsaMj O;fDr;ksa ds lkFk 
gksus okys HksnHkko dks izfrcafèkr djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 73.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjrh; lafo/ku dh 5oha vuqlwph esa ^vuqlwfpr 

{ks=k* dks js[kkafdr fd;k x;k gSA

	 2.	 iz/kuea=kh fdlh Hkh le; jkT; ds jkT;iky dh 
lykg ij ,d jkT; esa fdlh vuqlwfpr {ks=k esa 
o`f¼ dk vkns'k ns ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 74.	tutkfr lykgdkj ifj"kn ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%
	 1.	 bl lykgdkj ifj"kn esa vf/dre 20 lnL;ksa 

dk izko/ku fd;k x;k gSA

	 2.	 bl ifj"kn esa lnL;ksa dh la[;k] fu;qfDr dh 
i¼fr rFkk ifj"kn ds vè;{k dh fu;qfDr djus 
dh 'kfDr iz/kuea=kh dks nh xbZ gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 75.	fuEufyf[kr jkT;ksa ij fopkj dhft;s
	 1.	 NÙkhlx<+	 2.	vka/z izns'k

	 3-	 jktLFkku	 4-	eè; izns'k

	 	mi;qZDr jkT;ksa esa ls fdl@fdu eas ik¡poh vuqlwph dh 
orZeku fLFkfr ds vuqlkj vuqlwfpr {ks=k fo|eku gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2, 3 vkSj 4
	 (c)	 dsoy 1, 3 vkSj 4	 (d)	 1, 2, 3 vkSj 4
	 76.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 jkT;iky dks vuqlwfpr {ks=kksa dh ^'kkafr* vkSj 

^lq'kklu* ds fy;s fofu;e cukus dh O;kid 
'kfDr nh xbZ gSA

	 2.	 laln dks 'kfDr nh xbZ gS fd og fof/ }kjk 
ik¡poh vuqlwph ds fdlh Hkh mica/ dk la'kks/u] 
ifjorZu ;k fujlu dj ldrh gSA

 72.		 In the context of ‘The Transgender (Protection of 
Rights) Bill, 2016’, consider the following 
statements: 

	  1. 	A detailed definition of transgender people, 
has been given in it. 

	  2. 	This bill gives transgenders the right to 
receive certificate for their identification. 

	  3. 	It prohibits discrimination with transgender 
people in matters such as employment, 
recruitment and promotion in government or 
private institutions.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 
  73. 	Consider the following statements: 
	  1. 	In the 5th Schedule of the Indian Constitution, 

'Scheduled Area' has been mentioned. 
	  2. 	Prime Minister can order an increase in any 

scheduled area in a state on the advice of the 
state's governor at any time. 

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	  d) 	 Neither 1 nor 2 
	 74. 	In context to the Tribal Advisory Council, consider 

the following statements: 
	 1. 	Provision for a maximum of 20 members 

have been made in this Advisory Council. 
	 2. 	The strength over the members of the 

Council, the method of appointment and the 
appointment of the Prime minister of the 
Council has been given to the President. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 
 75. 	Consider the following states 
	  1. 	Chhattisgarh 	  2. 	 Andhra Pradesh 
	  3. 	Rajasthan	  4. 	 Madhya Pradesh
	  	In which of the states  mentioned above, the 

scheduled area is present as per the current status 
of the fifth schedule?

	 (a) 	1 only 	 (b) 	 2, 3 and 4 only  
	 (c) 	1, 3 and 4 only 	 (d) 	 1, 2, 3 and 4 

  76.		 Consider the following statements: 
	  1. 	The Governor has been given extensive 

power to make regulations for 'peace' and 
'good governance' of scheduled areas. 

	  2. 	Parliament has been given the power to 
amend, modify or upsurge any provisions 
of the fifth schedule by law. 
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 77.	gky gh esa laiUu fdl fo/kulHkk pquko dk ifj.kke 

jkT;iky dh Hkwfedk] izksVse Lihdj ds pquko vkSj lqizhe 
dksVZ ds lfØ; gLr{ksi dks ysdj dkiQh ppkZ esa jgk\

	 (a)	 xksok	 (b)	 xqtjkr

	 (c)	 dukZVd	 (d)	 fcgkj
	 78.	foÙk vk;ksx ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bl vk;ksx esa vè;{k lfgr dqy lnL;ksa dh 
la[;k 5 gSA

	 2.	 blds lnL;ksa dh ;ksX;rk dk fu/kZj.k laln ds 
}kjk fd;k tkrk gSA

	 3-	 vk;ksx viuh fjiksVZ iz/kuea=kh dks lkSairk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 79.	iz/kuea=kh o; oanuk ;kstuk ds lanHkZ esa] fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bl ;kstuk dk eq[; mn~ns'; foÙkh; lekos'ku 
vkSj lkekftd lqj{kk ds izfr ljdkjh izfrc¼rk 
dks n'kkZuk gSA

	 2.	 bl ;kstuk dk lapkyu djus dk fo'ks"kkf/dkj 
Hkkjrh; thou chek fuxe dks fn;k x;k gSA

	 3-	 bl ;kstuk dk ykHk 60 o"kZ ;k mlls vf/d vk;q 
ds ofj"B ukxfjd izkIr dj ldrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 80.	dsanzh; lrdZrk vk;ksx ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bl vk;ksx dk xBu 1964 esa laFkkue lfefr ds 
izfrosnu ds vk/kj ij fd;k x;k FkkA

	 2.	 blds vk;qDrksa dk dk;Zdky in xzg.k djus dh 
frfFk ls ik¡p o"kZ vFkok 65 o"kZ dh vk;q izkIr 
dj ysus (tks Hkh igys gks) rd gksrk gSA

	 3-	 vk;ksx vius okf"kZd dk;Zdykiksa dh fjiksVZ jk"Vªifr 
dks nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1	 (d)	 1, 2 vkSj 3

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

  77. 	Which of the assembly elections held recently, was 
in news due to the governor's role, the election of 
the Protem speaker and the active intervention of 
the Supreme Court? 

	 (a) 	Goa 	 (b) 	 Gujarat
	 (c) 	Karnataka 	 (d) 	 Bihar 

  78. 	In the context of the Finance Commission, consider 
the following statements: 

	  1 	The number of total members including the 
President of this commission is 5. 

	  2. 	The eligibility of its members is determined 
by the Parliament. 

	  3. 	The Commission submits its report to the 
Prime Minister.

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 2 only 	 (d) 	 1, 2 and 3 

  79. 	Consider the following statements in context to 
the Prime Minister Vaya Vandana Yojana;

	  1. 	The main purpose of this scheme is to fulfill 
the government’s commitment towards 
financial inclusion and social security. 

	  2. 	The privilege of operating this scheme has 
been given to the Life Insurance Corporation 
of India. 

	  3.	 Senior citizens of 60 years and above can 
avail the benefits of this scheme.

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 

 	80.	 In the context of the Central Vigilance Commission, 
consider the following statements: 

	  1. 	This Commission was formed in 1964 on the 
basis of the report of Santhanam Committee. 

	  2.	 The commissioner's tenure is five years or 
till the age of 65 years (whichever is earlier) 
from the date of admission. 

	  3. 	Commission gives report of its annual 
activities, to the President.

 		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only 	 (b) 	 2 and 3 only 
	 (c) 	1 only 	 (d) 	 1, 2 and 3 
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	 81.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjrh; lafo/ku ds vuqPNsn&72 ds vuqlkj 

jk"Vªifr dks {keknku dh 'kfDr iznku dh xbZ gSA
	 2.	 vuqPNsn&161 ds rgr jkT;iky dks Hkh {keknku 

dh 'kfDr iznku dh xbZ gSA
	 3.	 jkT;iky dks Hkh jk"Vªifr dh rjg iw.kZ {keknku 

dh 'kfDr e`R;qnaM ds ekeys eas Hkh izkIr gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3
	 82.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 jk"Vªifr eaf=keaMy dh lykg ysus ds fy;s n;k 

;kfpdk dks x`g ea=kky; ds ikl Hkstrk gSA

	 2.	 n;k ;kfpdk ds fo"k; ij jk"Vªifr dSfcusV dh 
lykg ekuus ds fy;s ckè; ugha gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 83.	jkts'k fcany lfefr ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 bl lfefr dk xBu varjkZ"Vªh; cky vigj.k 

fo/s;d] 2016 ds flfoy igyw vkSj cky laj{k.k 
dh leh{kk ds fy;s fd;k x;kA

	 2.	 bl lfefr us viuh fjiksVZ Hkkjr ljdkj ds x`g 
ea=kky; dks lkSai nh gSA

	 3-	 lfefr us cPpksa ds varnsZ'kh; fu"dklu vkSj 
iquLFkkZiu ij viuk lq>ko fn;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 84.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 lk/kj.k czã lekt dh LFkkiuk 1878 bZ- esa gqbZA
	 2.	 lk/kj.k czã lekt dh LFkkiuk Hkkjro"khZ; czã 

lekt ds VwVus ij gqbZ FkhA
	 3-	 lk/kj.k czã lekt ds igys vè;{k vkuan eksgu 

cksl FksA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 85.	{ks=kh; ifj"kn ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 bl ifj"kn dk mn~ns'; varjkZT;h; lg;ksx ,oa 

leUo; LFkkfir djuk gSA

	 2.	 bl ifj"kn dh vè;{krk Hkkjr ds iz/kuea=kh djrs 
gSaA

  81. Consider the following statements: 
	  1. 	Under the article 72, the President has the 

power to grant pardons.
	 2. 	Under Article 161, the power of granting 

pardon forgiveness has also been given to 
the governor. 

	  3. 	The governor has also been given the power 
of pardon like the President in the case of 
capital punishment. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 1 and 2 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 
 	82. 	Consider the following statements: 
	  1. 	The President forwards the mercy petition to 

the Home Ministry, to get the advice of the 
cabinet.

	 2. 	The President is not obliged to adhere to the 
advice of cabinet on the subject of mercy 
petition. 

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 
  83.		 In the context of the Rajesh Bindal Committee, 

consider the following statements:
	  1. 	This committee was constituted to review  

the civil aspects of the International Child 
Abduction Bill, 2016.

	  2. 	This committee has submitted its report to the 
Home Ministry of the Government of India. 

	  3. 	The committee gave its suggestion on inland 
eviction and rehabilitation of children.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 
	 84.	 Consider the following statements: 
	 1. 	Brahmo Samaj was established in 1878 AD. 
	 2. 	Brahmo Samaj was founded on the breakdown 

of the Indian Brahmo Samaj. 
	 3. 	The first chairman of the Brahmo Samaj was 

Anand Mohan Bose.
	  	Which of the statement(s) given above is/are 

correct?
	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 
 85.		 In the context of the Regional Council, consider 

the following statements: 
	 1. 	The objective of this Council is to establish 

inter-state cooperation and coordination. 
	 2. 	This Council is headed by the Prime Minister 

of India. 
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	 3-	 if'peh {ks=kh; ifj"kn dh 23oha cSBd gky gh 
esa eqacbZ] egkjk"Vª esa vk;ksftr dh xbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls vlR; gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 2	 (d)	 1, 2 vkSj 3
	 86.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 orZeku esa Hkkjr esa pkj izdkj dh ykblsal IysVsa gSaA  

	 2.	 xzhu ykblsal IysV dk eq[; mís'; fctyh ds 
okguksa ds mi;ksx dks c<+kok nsuk gSA

	 3-	 jk"Vªifr vkSj jkT;iky ds vkf/dkfjd okguksa esa 
jk"Vªh; izrhd ds lkFk yky ykblsal IysV yxk;k 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 87.	fuikg ok;jl ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 phu esa loZizFke bl ok;jl dh iqf"V dh xbZ FkhA

	 2.	 bl ok;jl dh iqf"V Hkkjr ds nf{k.kh jkT; dsjy 
esa gqbZA

	 3-	 pexknM+ bl ok;jl ds laØe.k dk eq[; okgd 
gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 88.	czãksl felkby ds lanHkZ esa] fuEufyf[kr dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g Hkkjr vkSj :l }kjk la;qDr :i ls fodflr 

lqijlksfud Øw”k felkby gSA

	 2.	 orZeku esa bl felkby dh ekjd {kerk 450 
fd-eh- gSA

	 3-	 bl felkby dks dsoy lrg ls ykWUp fd;k tk 
ldrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3
	 89.	felkby VsDuksykWth daVªksy fjthe (,eVhlhvkj) ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldh LFkkiuk 1987 esa dh xbZ FkhA
	 2.	 blesa dqy 45 lnL; ns'k 'kkfey gSaA
	 3-	 felkbyksa ds O;kikj ij izfrca/ yxkuk vkSj 

jklk;fud] tSfod rFkk ijek.kq geyksa ds :i esa 
mi;ksx dh tkus okyh ekuojfgr iz.kkfy;ksa ds 
O;kikj dks izfrcaf/r djuk_ blds izeq[k mís'; 
gSaA

	 3. 	The 23rd meeting of the Western Regional 
Council was held recently in Mumbai, 
Maharashtra.

		  Which of the statement(s) given above is / are not 
correct?

	 (a) 	1 and 2 only 	 (b) 	 2 and 3 only 
	 (c) 	2 only 	 (d) 	 1, 2 and 3 
	 86.	 Consider the following statements: 
	 1. 		There are four types of license plates in India.  
	 2.  	The main purpose of Green License Plate is 

to promote the use of electric vehicles.
	 3. 	On the official vehicles of the President 

and the Governor, a red license plate with a 
national symbol is put.

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	3 only 	 (d) 	 1, 2 and 3 
	 87. 	In the context of Nipah virus, consider the 

following statements: 
	 1. 	This virus was confirmed for the first time in 

China.
	 2. 	In India, it was confirmed in the southern 

state of Kerala. 
	 3. 	Bat is the main carrier of this virus infection.
		  Which of the statement(s) given above is/are 

correct?
	 (a) 	1 only	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 
 88. 	With reference to the Brahmos missile, consider the 

following statements: 
	 1. 	It is a supersonic cruise missile jointly 

developed by India and Russia. 
	 2. 	At Present, the range of the missile is 450 

Kms.
	 3. 	This missile can only be launched from the 

surface.
		  Which of the statement(s) given above is/are 

correct?
	 (a) 	1 and 2 only 	 (b) 	 2 and 3 only 
	 (c) 	3 only 	 (d) 	 1, 2 and 3 
	 89. 	In the context of  the Missile Technology Control 

Regime (MTCR), consider the following 
statements:

	 1. 	It was established in the year 1987. 
	 2. 	It comprises of a total of 45 member 

countries. 
	 3.	 Restricting the trade of missiles and 

prohibiting the trade of unmanned systems 
used as chemical, biological and atomic 
attackers; are it's main objectives.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1, 2 vkSj 3
	 90.	lasVhuy&3 B lSVsykbV ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s% 
	 1.	 bl lSVsykbV dk izeq[k mís'; i`Foh ij mifLFkr 

egklkxjksa dh fuxjkuh djuk gSA

	 2.	 bl lSVsykbV dks uklk ds }kjk ykWUp fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 91.	^dkWijfudl izksxzke* ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 bl izksxzke dk izeq[k mís'; i;kZoj.k ds izca/u esa 

lq/kj djuk gSA
	 2.	 ;g vc rd dk lcls egÙokdka{kh ìFoh voyksdu 

dk;ZØe gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 92.	U;w 'ksiMZ jkWdsV iz.kkyh ds lanHkZ esa] fuEufyf[kr esa ls 

dkSu&lk dFku vlR; gSS\
	 (a)	 ;g iz.kkyh iw.kZ:i ls iqu% iz;ksT; yacor VsdvkWiQ 

yacor ySafMax izdkj dk ,d okgu gSA
	 (b)	 bl iz.kkyh esa ,d cwLVj ds Åij ,d ncko;qDr 

dSIlwy dh mifLFkfr gksrh gSA
	 (c)	 bl dSIlwy dks O;kolkf;d isyksM dh mM+ku 

vkSj yxHkx 15 ls vf/d ;kf=k;ksa dks varfj{k 
esa ys tkus ds fy;s fM”kkbu fd;k x;k gSA

	 (d)	 mi;ZqDr esa ls dksbZ ughaA
	 93.	fuEufyf[kr esa ls fdl fe'ku dks gky gh esa uklk ds 

}kjk jn~n djus dk fu.kZ; fy;k x;k gS\

	 (a)	 bulkbV fe'ku	
	 (b)	 fjlkslZ izksLisDVj fe'ku
	 (c)	 ik;fu;j fe'ku
	 (d)	 mi;qZDr esa ls dksbZ ughaA
	 94.	ukjdksfVDl daVªksy C;wjks ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g MªXl ls lacaf/r 'kh"kZ Lrj dh leUo;d 

laLFkk gSA
	 2.	 ;g dsanz ljdkj dh ns[kjs[k vkSj blds fu;a=k.k 

esa dk;Z djrh gSA
	 3-	 gky gh esa blus VªkekMksy uked nnZ fuokjd 

vkS"kf/ ds ck”kkj esa fd;s tk jgs nq#i;ksx vkSj 
rLdjh ds ckjs eas fpark O;Dr dh gSA

	  	Which of the statement(s) given above is/are 
correct?

	 (a) 	1 and 3 only 	 (b) 	 2 and 3 only 
	 (c) 	3 only 	 (d) 	 1, 2 and 3 

	 90.	 In the context of the Centennial -3B Satellite, 
consider the following statements: 

	 1. 	The main purpose of this satellite is to 
monitor the oceans on Earth. 

	 2. 	This satellite has been launched by NASA. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 91.	 Consider the following statements regarding the 
Copernicus program: 

	 1. 	The main purpose of this program is to 
improve the management of the environment. 

	 2. 	It is the most ambitious Earth observation 
program, so far. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only 
	 (c) 	Both 1 and 2	 (d) 	 Neither 1 nor 2 

	 92.	 In the context of the New Shepard Rocket system, 
which of the following statement is not correct? 

	 (a) 	This is a fully recyclable, vertical take-off, 
vertical landing type vehicle. 

	 (b) 	In this system, there is a pressure cabinet of 
pressurized capsules on the top of a booster.

	 .(c) 	This capsule has been designed to transport 
the commercial payload and to carry more 
than 15 passengers into space. 

	 (d) 	None of the above.

 93. 		 Which of the following missions has recently been 
decided to cancel by NASA?

	 (a) 	Insight mission 	
	 (b) 	Resource Prospector mission 
	 (c) 	Pioneer mission 
	 (d) 	None of the above. 

 	94. 	In the context of Narcotics Control Bureau, 
consider the following statements: 

	 1. 	It is the coordinating body related to drugs 
at the highest level. 

	 2. 	It works under the supervision and control 
of the central government. 

	 3. 	Recently, it has expressed concerns about 
mismanagement and smuggling in a 
painkiller called tramadol.
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	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3
	 95.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jk"Vªh; ck;ksiQkekZ fe'ku foKku vkSj izkS|ksfxdh 
ea=kky; }kjk ykWUp fd;k x;k gSA

	 2.	 jk"Vªh; ck;ksiQkekZ fe'ku dk eq[; mís'; 
lkoZtfud LokLF; laca/h leL;kvksa ls NqVdkjk 
ikus ds fy;s ck;ksiQkekZL;qfVdy mRiknksa dh ns'k 
esa fdiQk;rh vkSj izHkkoh miyC/rk lqfuf'pr 
djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	 96.	vVy U;w bafM;k pSysat ds lanHkZ esa] fuEufyf[kr dFkuksa 

ij fopkj dhft;s%
	 1.	 ;g ns'k esa uokpkj vkSj m|e'khyrk dh laLÑfr 

dks c<+kok nsus ds fy;s Hkkjr ljdkj dh ,d 
egÙoiw.kZ igy gSA

	 2-	 ;g uhfr vk;ksx }kjk ykWUp dh xbZ gSA
	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 u gh 2
	 97.	xxu ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 bldk fodkl Hkkjrh; varfj{k vuqla/ku laxBu 

rFkk ,;jiksVZ vFkkWfjVh vkWiQ bafM;k }kjk fd;k 
x;k gSA

	 2.	 ;g mixzg vk/kfjr ukSogu iz.kkyh gS tks thih,l 
ds ukSogu ladsrksa ij vk/kfjr gSA

	 3-	 ;g dsoy Hkkjr esa gh thih,l lao£¼r lsokvksa 
dh miyC/rk lqfuf'pr djkus esa l{ke gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1, 2 vkSj 3
	 98.	Hkkjrh; jk"Vªh; egklkxj lwpuk lsok dsanz ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g i`Foh foKku ea=kky; ds v/hu ,d Lok;Ùk 
laxBu gSA 

	 2.	 bldk xBu o"kZ 1999 esa fd;k x;k FkkA

	 3-	 ;g lekt] m|ksx] ljdkjh ,tsafl;ksa rFkk oSKkfud 
leqnk;ksa dks fujarj egklkxjh; voyksdu ds 
ekè;e ls egklkxj ds fo"k; esa i;kZIr vkSj 
egÙoiw.kZ tkudkfj;k¡ miyC/ djkrk gSA

		  Which of the statement(s) given above  are correct?
	 (a) 	1 and 2 only 	 (b)	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 

  95. 	Consider the following statements: 
	 1.	 National Biopharma Mission has been 

launched by the Ministry of Science and 
Technology. 

	 2. 	The main objective of National Biopharma 
Mission is to ensure the economical and 
effective availability of biopharmaceutical 
products in the country to get rid of public 
health problems. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	 96. 	In the context of the Atal New India Challenge, 
consider the following statements: 

	 1. 	It is an important initiative of the Government 
of India to promote the culture of innovation 
and entrepreneurship in the country. 

	 2. 	This policy has been launched by the NITI 
Aayog.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only 
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2

	 97.	 With reference to GAGAN, consider the following 
statements: 

	 1. 	It has been developed by the Indian 
Space Research Organization and Airports 
Authority of India. 

	 2. 	It is a satellite-based navigation system based 
on the shipping signals of GPS. 

	 3. 	It is able to ensure the availability of GPS 
enhanced services in India only.

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only 	 (b) 	 2 and 3 only 
	 (c) 	1 and 2 only 	 (d) 	 1, 2 and 3 

 	98. 	In the context of Indian National Ocean Information 
Service Center (INCOIS), consider the following 
statements: 

	 1.	 It is an autonomous organization under the 
Ministry of Earth Sciences. 

	 2. 	It was formed in 1999.	 
	 3. 	It  provides adequate and important 

information regarding oceans to the society, 
industry, government agencies and scientific 
communities through continuous ocean 
observation.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3
	 99.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;wjksfi;u varfj{k ,tsalh dk xk;k fe'ku dks 2013 
esa ykWUp fd;k x;k FkkA

	 2.	 xk;k fe'ku vkdk'kxaxk esa mifLFkr rkjksa dh 
la[;k] xfr] mudh lajpuk rFkk fodkl ds fo"k; 
esa csgrj tkudkjh miyC/ djkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
	100.	fuikg ok;jl ds lanHkZ esa] fuEufyf[kr eas ls dkSu&lk 

dFku vlR; gS\

	 (a)	 ;g ok;jl jkbZcksU;wfDyd ,flM ok;jl dk ,d 
izdkj gSA

	 (b)	 bls ,uvkbZoh ds uke ls Hkh tkuk tkrk gSA

	 (c)	 bl ok;jl dks MCY;w,pvks }kjk fo'o i'kq LokLF; 
laxBu esa lwphc¼ fd;k x;k gSA

	 (d)	 ok;q ls bl ok;jl ds laØe.k dk [krjk cgqr 
vf/d gksrk gSA

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only.	 (b) 	 2 and 3 only 
	 (c) 	1 and 3 only 	 (d) 	 1, 2 and 3 

	 99. 	Consider the following statements: 
	 1. 	The GAIA Mission of the European Space 

Agency's was launched in 2013. 
	  2. 	The GAIA Mission provides a better 

information about the number, speed, 
structure and development of the stars 
present in the Milky Way Galaxy. 

		  Which of the statement(s) given above is/are 
correct?

	 (a) 	1 only	 (b) 	 2 only
	 (c) 	Both 1 and 2 	 (d) 	 Neither 1 nor 2 

	100.	 In reference with Nipah virus, which of the 
following statement is not correct? 

	 (a) 	This is a type of ribonucleic acid (RNA) 
Virus. 

	 (b) 	It is also known as NiV.
	 (c) 	This virus has been listed by World Health 

Organization in the World Animal Health 
Organization.

	 (d) 	The risk of infection of the virus through air 
is very high.


